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Scpa%mc Optical Mark Reader (OMR) Answer Sheet is supplied to the candidate along with Question Paper
Booklet. I?lcasc read and follow the instructions on the OMR Answer Sheet for marking the correct response.
wrglhoi Badigo o EBSE Jrtn u%éé’ 376, 646 (Loowsb) aaee Higo e oBotnta. g
2T ) S0 5. 30e8 o HFH &) HrEPe KT H08D0TSTD.
The Candidate should ensure that the Hall Ticket Number and Name of the Candidate are properly

printed on the

OMR Answer Sheet provided to you. The Candidates are further instructed to ensure

that the booklet code printed on OMR Answer Sheet is same as the Question Paper Booklet
code supplied to you.
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This booklet contains 200 Questions and candidates shall answer all of them in 180 minutes.
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One mark will be awarded for every correct answer for post code 21 and half mark for post code 23.
There are no negative marks.
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Immediately on opening the Question Paper Booklet by tearing off the paper seal, please check
for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the questions (1-200),

(iii) Th

s and (iv) Correct Printing. In case of any defect, please report to the invigilator

and ask for replacement of booklet with same code within five minutes from the commencement of the test.
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Answers to the questions must be entered only on OMR Answer Sheet by complete

y shading the appropriate

circle with Ball Point Pen (Blue or Black) only.
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The OMR Answer Sheet will be invalidated if the circle is shaded using Pencil or if more than one circle is
shaded against each question even with a small dot.
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» The Candidates must fully satisfy themselves about the accuracy of the answer before darkening the

appropriate circle of (1),(2),@)or @) in the OMR Answer Sheet with Blue/Black Ball Point Pen, as
1 is not possible to change or erase once darkened.
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% Use of Eraser or White Fluid on the OMR Answcr Sbcct is not
is machine gradable and it may lead to wrong evaluation. . i W& TR
Sarergogdo abogo serdor Acsoly S0% Laowl BIE dgo R 36 ngwﬁ wd, 98)
Tt sHH8 B, . '

_ The OMR Answer Sheet will not be valued if the candidate: P
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(a) Writes the Hall Ticket Number on any part of the OMR Answer Sheet except in the sp
for the purpose,
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(b) Writes any irrelevant matter including religious symbols, words, prayers or any communication what
50 ever in any part of the OMR Answer Sheet, (
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(c) Adopis any other malpractice.
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. Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log Tables

are not permitted into the cxamination hall.
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. Rough work should be done only in the space provided in the Question Paper Booklet.
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. Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end
of the examination.
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_Ensure that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.
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14. The candidate should write the Question Paper Booklet code and its serial number and sign in the space
provided in the Nominal Rolls. .
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15. Return the OMR Answer Sheet to the invigilator before leaving the Examination Hall. Failure to return the OMR
Answer Sheet is liable for criminal action and the result will be kept withheld. The Question Paper Booklet shall
be taken away by the candidate and should be preserved till the declaration of results. _
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NOTE: If any ambiguity arises in translations in any question then the text/matter stated in Engli
version s.ha‘ni1 be treated as final, since the Question Paper Booklet is pri e I'
viz. English/ Telugu or English/ Urdu. : s printed in two languages )
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This booklet consists of 48 Pages including CoverPa
ge and Pages of Rough Work.
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(i Ope mark will be awarded for every correct answer for post code 21 and half mark for
gbst code 23. There are no negative marks.
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i) Thereis only one answeramong the given four options. Choosc (he most appropriate answer
:Om the given options to the following questions and darken, with Blue/Black Ball Point

en the corresponding digit (1), (2), (3) or (4) in the circle pertaining 10 the question

L umber concerned in the OMR Answer Sheet, separately provided to you-
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1. | Choosethe grammatically correct sentence from the options given below. .
(1) Jprefer coffec than tea.

You can travel onbusto reach Hyderabad.

4 @) 1wil meet you at the department.

4) 1 recently learnt that my colleague is married with a celebrity chef.

[ I i s e S 2

Choose the meaning of the underlined phrase/ idiom.
[ can’t talk 1o him, he is such a queecr fish. . i
(1) Handsome man Sensitive man

! (3) Strangc man _ (4) Humbleman
" 2| Choose the meaning of the underlined phxasc/ idiom.
What you have just said is beside the mark. '

beside the Mal2

1) Correct Wgcmlcd
(3) Incorrect rrelevant
Choose the correct one-word substitute.
A pers who has just started learning.
Appremicc (2) Foreman
3) Supervisor (4) Accomplice

e

W

e —

! k. Choose the meaning of the underlined phfase/ idiom.
: }?Mf\he only person 10 speak out against the decision of the college management.

, to state Qpinion frankly (2) tostate unconsciously
/wm silent ' (4) tostate something incoherently
: e e

| i .
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6.  Choosc the correct active form of the sentence. |
Many accidents are caused by rash driving. |

(1) Rashdriving is caused many accidents. |
,g)/RMh driving was caused many accidents. |
Many accidents caused by rash driving.  a I

(4) Rashdriving causes many accidents. |

7. Choose the one which best expresses the given sentence in Passive Voice.. |

‘What amused her?’ . \
(1)  What she is made to amuse by? (2) By what s she being amused? |
y what was she amused? (4) By what has she been amused? |

8. Rearrange the jumbled phrases into a meaningful sentence. b 2
gotothe lady / herselfwith impeccable majesty and wisdom / who has conducted /

(1) (2) (3) |

. |
the credit must

4 _
m (2) 4: 25 1'3 {

(3) 4,1,2,3 | 4) 3,4,1,2 ".

9. Choose the correct order of the jumbled phrases to make it a meaningful sentence. |
but I declined / in my company / to become the deputy manager /I got the opportunity

M (2) (3) 4) |
4, 3, 2, 1 ; (2) 3’ 29 L] 4 |I
(3) 4,2,1,3 R

1
2 3!
10. Choose the correct form of the verb.
We in Sri Lanka last year this time.

(1) are @) had G3) did 4 were

11.  Fillin the blanks with suitable article(s).

English is the language of English.
(1) An,the ,&Y The, no article }})< The, the m_(; article, the
12. Choose the correct set of Prepositions. =
Itis very hot the day but quite cold night.
(1) in,in (2) atin (3) at,at 4 in, at

13. Fillin the blank with an appropriate Verb Form.
When I went to meet him, he in his garden.

g;)oﬂer (2) isworking
was working . (4) hasbeen working
M i
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14, Fhoosc the correct passive form of the sentence.
The workers are building a big shopping complex.’
A big shopping complex is built by the workers.
(2) Abigshopping complex was being built by the workers.
(3) A bigshopping complex were built by the workers.
(4) A bigshopping complexis béing built by the workers.

15. Choose the grammatically correct sentence.
(1) __Iig)}falltcd to know that when would classes began.
—2)" He wanted to know when classes would begin.
(3) He wanted to know when classes will begin.
(4) He wanted to knew when classes would began.

16. Choose the appropriate phrasal verb.
The citizens must their rights.
(1) stand against (2) stand apart

(3). stand back M up for ' ' ’

Read the passage carcfully and answer the questions from 17 to 21 that follow :

Books are by far, the most lasting product of human effort. Temples crumble into ruins, pictures
and statues decay, but books survive. Time does not destroy the great thoughts coritained in the
books which are as fresh today as when they first passed through their author’s mind. These
thoughts speak to us through the printed page. The only effect of time has been to throw out of

currency the bad products , among books. Nothin in literature which is not good can live for

long. Good books have always helped man in various spheres of life. No wonder th_atﬁt}ie world
keeps its books with great care. : -

17. Time does not destroy books which contain
(1) useful material '
__(3)~ greatideas (4) bad products

18. “To throw-oul of currency’ means to gt :
,frﬁ)ijfoy ) (2) Extinguish

(3) Forget (4) Putoutofuse

19. The world keeps its books with care because __
(1) They replace technological gadgets.
(2) Theydonot bring great ideas to us.
They help us in various spheres of life.
(4) They makeus feel exhausted.

e

O 53

(2) subject matter for education
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20. Ofthe products of human effort, books are the most :
(1) insignificant m
(3) temporary (4) dangerous
21. Choose a suitable title for the passage.
(1) Value of Temples (2) Value of Statues
(3) Distribution of Books __(4) VatueofBooks
22.  Choosc the word which is nearest in meaning to the underlined word in the sentence.
The speech was intended to pacify the angry mob.
(1) soothe frighten (3) incite (4) terrorise
23. Choose the word which is similar in meaning to the underlined word.
She speaks good English without any affectation.
(1) Confidence (2) Pretentiousness
(3) Genuineness (4) Simplicity
24.  Choose the word which is oppositeé in meaning to the underlined word/phrase.
The insurance company rejected the spurious claim made by the automobile firm.
(1) false (2) fabricated (3) overinvoiced _4)—genuine
25. Choose the antonym of the underlined word from the given alternatives.
The Martians in “The War of Worlds™ survived every military weapon known to man but
succumbed to the common cold.
(1) Surrendered  (2) Givenup (3) Overcame (4) Yielded |
26. Choose the correct spelling of the word. |
(1) Abbrreviation (2) Abrreviation  (3) Abbrevieation - (4) Abbreviation
27. Choose the correctly spelt word.
(1) Weired (2) Pronounciation (3) Neccessary mon
28.  Choose an appropriate preposition from the options and fill in the blank in the fom
sentence.
The boss has been ill flu this week.
(1) . from @) with e 4) of
29. Choose an appropriate set of prepositions.
I am acquainted the latest developments this situation.
(1) of with @) off,above ) with in (4) about, off
30. Choose the grammatically correct sentence from the Optim below.

(1) He do not want to continue his studies.

}/Oh'é of my friends have gone to Chennai yesterday.

(3) Neither of the participants was able to win a decisive victory,
(4) They does not listen to us.

(T - DR e
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a1, :}fl Rs. 40,000 amounts to Rs. 69,120 in n years at 20% rate of interest compounded annually
tnn= ’
. 40,000 &r&rohosn oz 20% BESGoe0s* fe3oDSDyo n rQOQ’)éJU’Q)E’S‘ 69,120 &rne
; S0ED8, wdydd n = ”
s 2) 4 M (4') 2
32.

If the solution of the simultaneous linear equations 2x -3y +4 = 0and3x 2y-4=0isx=a
and y = b, then

2x=3y+4=05005 3x-2y-4 =0 03 35050 &I .oﬁbédsa‘u Bof), FES
X=a30ain y=h wond, ¢ BBk

(1) a=b (2) a=2b 37 2a=b '(4) a+b=0

. 2727 3x+2y—5=05080%0 kx -2y + 7 = 0 03 $53505°0% Jéwé oh:édea'uéa &déaéaé
At 2 Ll (_l;,,_)jc;;
=

</\._ o J (D) k#-3 ,@\\fk =3 (3) k=-3 4) k=-2

[f the simultancous lincar equations 3x + 2y—5=0and kx—2y+7 =0 have no solution,
then

A girl has only 5 rupee coins and 10 rupee coins in her kiddy bank. If there are 40 coins all
together in the bank amounting to Rs. 260, then the number of 5 rupee coins in it is

w8 wiron @wg), §4urgotd’ 5 drdade Hdon 10 Srdrabe THes SrED
B IT)oN. & ergosoes’ wd) §08 40 TEBOY wod o030 T Indgo DUJ;S
260 drﬁ'oﬁouonii by ORGSR 5 drdron 8o dopg

(1) 12 2) 14 3) 26 Wy

sx X A%
31 of 13+17——19x/6‘,7 20-6=

,u,)/m’ (2) 397 (3) 1023 (4) 693

q N
aﬁ%
-
In an arithmetic progression, if the third term is 13 and the fifth term is 23, then the sum

its first 35 terms is__ . -3 (_5

i -
§ wolERS 53;3;5 580 13 ;’:360533 a::c’.i;"mdo 23 wond, wiyd TR BoY), 330::5&3

35 dore dngo e
2) 473080

Dt
L\

—_—

2) 1540

31.

(1) 6160 (3) 4610

In a geometric progression, if the first term is 5, common ratio is 3 and the sum of the first
n terms is 1820, then n =

o HEAS E’mcﬁé.‘mclio 5. ::c;_‘;’:_asivééw 3I53605w_31>t:563 n dore 3wdgo 1820

wond, sdyd n = /@)/7

(1) 6 2

(2) 5 (3) 8

MR . - s 5

e Th BN

l‘al
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38. Iftwo dice are thrown simultancously, then the probability of getting a prime num
one die and.,g composite number on the other dic is & 4
o E B?ﬁo_. 3:%'555}3_;)55109_@*_52'%“@5363 el 3‘7.'.)5:.)_ @’:wéva’zpmg 53805.33 5‘;)35'5 D %

~ R00iVE Sogly TITI8 Ko Sogrisyd
¥ . 2 ' @ +
W3y Y\ @3 B -4 3

39. Ifacardis drawﬁ atrandom from a pack of 52 playing cards, then the probability of getting
aface card is |

5228 S0 flo w8 BE 08 af B Soh,S atnay o bsHyaS, Soopi50 )
SONS 0f B0 % FosEDs Ko Soarsgs ,

f 22 1 | 2 4

40. There are 32 marbles in an urn, in which some are red and the rest are green. Ifa marble is

drawn at random from the urn and the probability that it is red is %, then the number of

R =

- green marbles in the urn is

- w8 FFES' Ko 32 FOees FQ) B, DADID SHBHD. & FE S08 € FO
Y R

"f\wq:r SrEEorr RSN, ©8 w JBR F 55 D8 Ko NogrSgds -3 ©oNE, OBYE &
P FESD BHIHD AP0 Sopg

(1) 24 (2) 18 P v @) 12
Thc fo::zréccnth te!T_n ill the Series l', 4, 9, 45 10: 18’ 7’ 16’ 27! 10) 22) 36, 13, e iS

01 18, 7,18 27, 10, 22, 36, 13@@@*.‘0 S99 650

(1) 22 (2) 24 3)) 36 4) 28
42. The sixth term in the series 3,4,10,33,136, ... is

NN 374790753, 136, ... @eBetn w6S 350
‘\\\F%J‘ﬁ‘_%‘g”d/u

' By S e 3wt 685 2) 212 - (3) 408 (4) 544

¥

B 43 The term which is wrongly catored inthe soriee 2,3,5,7,8,11,11,15,17,19, 17, 23,20, .
Lﬂh\/ is

(1) 111}1”' term (2) 9""! htcml ')
(3) 7" term o =N (4) 13"term
fml,—_lﬁ,\t:}b(l% 1753, 20, ... &3 FBS* ST S S0BS B0
(1) 115 5o | 2798 B0
(3) 75 3o (4) 135 5o
I i
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44, l]u, seventh | term of the series 2, 3, 6, 15, 42, "j'(?é,

380 5%, ‘*szea Qof), B S0

‘(1) 169 2) 166 (3) 369 M/

45. Ilu, mlssmg term in the series CAB, EFE, GKH, , KUN, MZQ is
CAB, l l E,GKH, 10 | KUN, MZQ 3 geso'd 6008 564

)’ \2)5 1K _BIPK 4y IPK

y 46. Ifthe letter series AI{—MSA— BABB —-BAABA - BA with 4 blank spaces follows a certain
\ 34 R pattern, then the correct option which contains all the missing letters to be placed in the
g, 2 14 b]ank Z{jccs in 1hat order, to completc the pattern is

\, b DAB A~BABB BA IACBA 63 o€ 253 Ssorass wdBod wgods ot
o & i? FT 0 500 033 & e.m’b d FTol Food viTod 6l Eos" £0A wod,
= ‘Jma‘:ﬁa cooqr ) Eﬁ'foéamrr' &%) 38GHS ko
Q0% % (1) BAAB (2) AABB (3) ABBA 47 BBAA

47. 172C, WA4F, T71, QI2L, is the given series, then the correct option which fills the
blank space to contmuc the series is

/ZC W4]&‘ T?I Ql2L o030 S8@e wond, v FB FIFNoIEI8 ¥ FIod
H65n eRiaed ~
th MISN Mgo (3) N20P Q, MI9P

48. ’{ n a certain code language, if the word ‘VOLUME? is coded as ‘WRQBVP’ then in that
code language, the word ‘AREAS’ is coded as
28 DGR E'Beras* VOLUME es;'i 5o9 WRQBVP m &5 3%, & birss’ *Af{EAs’

L A\l R
o3 SR8 86 AT L\\ M\J Yoo\
\ U
(1) BUJBH /n BUHB &) BnGAis 31

49. Inacertain code lan{ uage, if the word ‘BUILDING?’ is coded as.‘UBLIIDGN’, then in that
' language ‘EMETARLYis the code for .
w8 DY §'G2rdes* ‘BUILDING! o3 sy ‘UBLIDGN §‘5 ﬁ @.63{:&3_. & RSt
d€  EMETARLI  5'6 s0858.

%% (1) METERAL (3 MATEREL  (3)-(MATERIAL METERALL
,ﬁ"’/—qo In a certain code language, if the word ‘WATER'’ is coded as ‘68’ and the word ‘“TEA’ is
- coded as ¢55°, then in the same language, the word ‘LIQUID’ is coded as

o8 N0y §'6Frad ‘WATER’ &3 Hco ‘68" m So8as0 _'IEA’ 3 oc‘.So ‘55" 66 5288,

B s LIQ\UI&) w3 S0 By, 58

AT 90 g (2) 88 (3) 89 ,Jﬂ §4) 86
L By S \a\%;

@?@"f
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51. Amantravels 2 km in the direction of North. Then he takes left tu‘rn and travels 2 kl;l.l:\;lf;‘
that he again turns left and travels 4 km. Later he takes again left turn an.d travc.ls _ 1
reach his destination. Then the direction of the destination from his starting point 1s

(1) SouthiWest (2) South-East
(3) South | (4) North

28 5g8 &ddodm 2 8.0, PorBRd. SHTE wdd B P Sewdh HREWR,
2 8.00. BASrAm. & SHTE $H§ IEDH YK Devd BHED 4 8.5, BaSrBId. |
Y © Shad 509 R0E'FB G IYHK Hoeo EFR 4 8.0, (Bosredod S350 P TR

T mseotrds. sivts w80 Bdoginso S08 Mgt SHI Ko oF

| (1) 3% | 2y shjoso

(3) &éeo _ (4) &80

52. A manis standing on a platform facing East. He turns 30° in the anti-clockwise directio_n
first and then turns 120° in the clockwise direction. Later if he turns 315° in the anti-
clockwise direction, then the direction he is facing now is

(1) South-East (2) North-East

(3) South-West (4) North-West

wf 558 o8 JoEn S 80)8 VPS0PB0MT JodSNTE. vdsH s ©I33g
(anti-clockwise) 8%¢* 30° w0 Sre0d) 880, & EHhad 5 (clockwise) 8¥e* 120° ex
e 8herdy. & dhad wdw w335y (anti-clockwise) B¥S® 315° en Soend
8818, 23 wEA8 wHSworr &) 8

(1) esthosoo (2) &S50

A58 (4) oS0

33.  Aboy moved 1 km towards West from his initial position. Then he took a right turn and
moved 2 km. Later he turned left and moved 3 km. Further he took a left turn and moved
5 km to reach a point P. If there is a straight path from the point P to his starting point, then i
the distance (in km.) he has to still move on that straight path to reach the starting point is "

w8 ot wdd &0 o $08 &S BIT 1 8.5%. I, SHTd HAJHK 8dA
2 8.20. 520088 ST, & ETE IEHPYIK 80A 3 8.2 I, & SHTS vESo
D60 IEIYIE 80h P 0 DoHsr BEHESEIE 5 8.5, Jopdd. Doy P K08

&I FOFTI8 85D o8 &od, FOPrQ) BHEFSTAS © 85 T8S* qo¥s w85
BosrBossods drdsn (8.5.06%)

() Vi3 (2) 41 S
T i D

Lb A3 -
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54. 1fAisthe father of B, C is the mother of D and B is the brother of C, then A is related to D as

(1) Grandfather (2) Uncle

(3) Father-in-law - (4) Brother /

B &y, 0@ A, D &»§, 39 C 508050 C Gwg), e Bwowd, D§ A & fio Sowoto
M es (2) 30 Bor Sod Aok

Oy BrSoms (4) EEE "

55. IfA+BmeansAisthe husband of B, A— B means A is the wife of B, Ax B means A is the son
of B and A + B means A is the daughter of B, then in view of this notation, the expression
P+Q+R=S xT leads to the relation. .i
(1) PisthesonofR (2) Qisthegrand ﬂuu’ghtcr of T
(3) Risthe daughter of T (4) Sis the father of P
A+ B woll B &g 558 A,A-B wod B &) urdg A,AxB o8 B @), HoSrdd A
55008 A+ Bwod B ang), $47g Awond, & $0dd 560 Sy P+Q+R-SxTed
SBrdo Sod 5Ty dowodo.

'

(1) R&Bwg, sosrds PO /{a-)ﬁg& Hr8507e0 Q
(3) T &g, K59 R\/'.a (4) PIng, 308 S

56. A family consists of 6 members A, B,C, D, E and F. There are two married couples in them.
D is the son of A; B is the grand daughter of E; C is the father of D; D is the brother of B and

F is the brother-in-law of D. Then B is related to A as

(1) Sister (2) Nicce

(3) Daughter (4) Daughter-in-law e
L& Koboowo A, B, C. D, E $o8co F e 6 66 950508 §00 ¢50b. 370¢" BadyDTird”
2obenamon. A Bo), $oSrddd D: E &»§), Soddcen B; D @), dod C; B &g
et D Sodas D Gwg, ovd F.odydo A8 B &' fio Somodo TpC
(1) ko (2) FSHI/FED Lo \ &

(3) o5 | (@) g @ —V

n
o

Ina gmﬁp of 10 people, if every person shakes hand with every ot?lcr person in the group
exactly once, then the total number of hand shakes that take place is

10 S008 Sgiyen &F) w8 HBorGroet [HBBgE, VKIS @8 add 55880 o8
LEFD E8mroso B, wdYEd Hogsochy Indo EdTroT o dopg
(1) 90 (2) 20

(3) 10 )

ST 1B

d e il Gl =i i | ]
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58. A sentence which s either true or false always but not both is called a mathematically
acceptable statement. Then among the following, the statement that is mathematically
acceptable is
(1) Mathematics is an interesting subject
(2)  The sum oftwo prime numbers is even
(3) Itrainstomorrow
(4) The capital of India is Mumbaj
w8 TEgo DOiydr d8ssn Bor SHEINVITRE Y Ood> wdlbyd soa @08, oA
A8e ) 8o ua3ra054a5S a8 33330 woird. BIYE, 1§08 eSeS*, Heda &y Sor
BArLowEns Ksso

) s go SHEE6DN ddasrodo

(2) Bods oS Bomge Bogsn o 50 éos:p,g\y s
,_(-3‘\"?3?@) D60 Bokidon, . Sa_
(4) " wréadzo DY, =GR Sxody,
39. If ‘a’ means “+'; ‘b’ means ‘x’: ‘¢’ means ‘-’ and ‘d’ means ‘+’, then the value of

13d35b7c¢91a13is

‘A’ wold ‘+': ‘b’ wodl X' wod - Z0akw ‘d’ wod ‘4 wond, 13d35b7¢9] 3 13
Al dewd

(1) 48 (2) 329

(3) 142 (/4),._25—1’

60. At a particular instant, a person A observes his friend B, who is moving at a speed of
60 m/min away from A, at a distance of | 20 m from him. IfA starts chasing B immediately
with a speed of 90 m/min. then the distance (in mts) to be covered by A to meet Bis
&8 QR Emoest, A o 588, &5 008 Erdor D5HIIE 60 Boue S0 I0E) waD
DEE B &5 08 120 .o Srdoest FTYED ASodoTrdd. I%Todrd Dd0rde
90 e I50s* B Adondy, wdyd B Q80T I8 A (Bair8ousods drdo (Derges)
(1) 360 (2) 240

{3)—480— (4) 180

61. The distance between two cities A and B is 270 km. Car M starts from A at the speed of
80 kmph and car H starts from B at the speed of 100 kmph at the same time. If they are
moving towards each other, then the time (in hrs) required for these cars to meet each other is
A 5008 B o3 B0t siere o5y 6ndo 270 &b, flotsss 80 8.0.0 Briod* M &3
578 A D08, KoLy 100 8. 5500 3K08* H &3 5°th B 008 23 ddoohoes* wohendoron.
0 &8 TATI SEEE Bosresdtod, e 58 28T ITES SoSmas 28 ddabo (Hobiwe®)

(1) 1 B 1.5
(3) 2 (4) 0.5

LTI s
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62. A person A travelled a certain distance in 5

: - ¢in 5 hr and 30 mip, He travelled two-thi e
e b'_v_ afrainata speed of 60 kmph and the remaining distance by a bus '1ltl'r:(is (:Llihl‘?
45 kmph. Then the total distance (inkm) travelled by Ajs Salaspeed

A e 358 §08 Srod) $ ot 30 Awe® Bosmeomds. OSE & Ergos
Codb Sode Erord) otk 60 8.5, & JKost o :

o8> 45 8.20.0 Srodk 2,¢ 200)5'% STy, wond /.\T SoreSo0S Sogo S5 (8.0.06%)
(1) 396 2) 216 /ea/fg*?m @) 307

IJircclions' fm" questions from 63 1o 65 - In each of the following questions from 63 to 65, a
statement is given followed by two conclusions numbered I and lI.hYou have to decide which’oi'
the conclusion(s) follow(s) from the given statement.
Give your answer as

(1), if only conclusion I follows:

(2), if only conclusion I follows:

(3), il'neither conclusion I nor 11 follows:

(4), i both conclusions I and IT follow.

63 S0l 65 S65 o BHoH Srdde: Bod CRIES 63 Hod 65 585 Ko o
WIo IS o 68 BESB0, o0 Jowd (I) 3o0c8 (1) 0B Srdoded Bods wSodren
(conclusions) ¢romom. 68 BIS50 Sod HBS* D e28(w) VRP0R0E" (BB IE)
D QOr00wd, ¥
058 | Sl woddh, & s3rade (1) wd; A
S8 Il SrEd wddh, L JSrgSe (2) vd; ¥
oS0 |, [l o' D6 ed005E3d, b sirgso (3) wb; ¥ A
O I, [l oo Bods ©iS0w, o I8reSo (4) wd aSgod. "
63. Statement : Teaching is the profession that shapes all professionals.
Conclusions: 1) Without a teacher, there will be no Doctor, no Engincer, no Lawyer
and even no Teacher.
II) Now adays some teachers are not doing justice to their profession.
RSSS0 'S8 938 JPwodd ErFrodod S5)B8.
oD 1 1) adggaing B50a, Iogd M, 2020 M), TgeHI M
o4& 0ot GIFFgond SrTe roddd.
II) & Soggseos” Fod 008 ergrgoine E )88 Frgoso Babhdo

S&o.

64. Statement : India’s economy is dependent mainly on forests.
Conclusions: 1)  Maintenance of forests alone improves Indian ceonomy.
II) Forests should be preserved to improve the Indian cconomy.

RS o 658 Gotnod.
DSSS0 : erSSa3% =08 ;’355$ RFSom edHoD e _
ta.‘-&:méaex): I) ‘é;’)eag vdHo ST e SrEgIo oS3y CLESSIEDES
EHHEN08.

) rosdd 68 Sg5gso DHMIEITTIE waHosH SosgoTd.

VO (3-8
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65. Statement : Use of cosmetics is hazardous
Conclusions : I)  Cosmetics cause side effects.
II) Cosmetics are inexpensive.
R3SS0 - iJ'OCSdS R‘Jvd;fe.: JEo ::‘K)édq :
vl 1 ) Ros8y FSTen DRI E0Aow.
5)) Foisy FET e $I85. “

66. Arish

2 18
(1) 2 @ = @ 5 (4) 1

67. A closed right circular cylinder circumscribes a glass vessel which is in the form of aright
circular cone exactly surmounted on its circumference by a hemisphere. If the heights of
the cylinder and the cone are 10 cmand 6 cm respectively, then the volume of'the cylinder
(in cubic cm) that is not covered by the glass vesse] is

5
(1) 256 (2) 224 x (3) g;ﬁ-n (4) -2—:—571:
J

68. Froma cylindrical wooden block of height 30 cm, a right circular cone of the same height
and same base is carved out. [f'the semi-vertical angle of the cone is 45°, then the sum of
the areas of internal and external surfaces of the remaining wooden block is (in sq. cms)
30 0.0, ek Ko o RIS Fafgion D08 ©08 Iy, wod ey, o 2.8

(. %0.dere5%)

(1) 900 = ) 900n(3+\/5)
___(3) 9007(9+ V2) (4) 1800 n
T | 14-B | S

1
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69 Ift_hrcc solid metallic cub_es withedges9cm, 12cmand 15 em respectively are melted and -
a single cube is casted with the entire metal, then the length (in cms) of its edge is P
SE3% kS e.hs ~ 4~ | = =
H::r.JrPJQJ:o.DJ‘E.\; ;2 0.2, BB 15 Ro.d. oo womeor Ko Sards e (solid) ":;x:‘v
O ) WrLl0Or Sfho3m ;5::5‘1;5 3o 55-:;__:;3) B up B85S0 ﬁé ;3;-5 Mde.:.
_ @38, Bo FEP (Bo.2.e5) = - R, Uy T _E
-’ 1) 20 " _
' - L= G) 16 18 O

70. A solid right circular metallic cone of height 21 cm and radius 3 cm is melted to form a
solid cyimdc:r of height 7 cm. Then the lateral surface area of the cylinder (in $q. cms) is
283 21 Bo.d., Fgrdo 3 Hoks. m o o 88 (solid) voaS)8oH S5y FopHso
£0h0D, T wo0.3s. JE3 Ao w8 4 (solid) Srdom rdoBoad. s ?63':.'30‘&035'2; ;5@60
27vgo (G o.ds.edY) i S ' it
(1) 132 (2) 144 (3) 112 /M/E«t

T, A fruit scllcr’purchuxcs 12 apples for Rs. 240. Out of them, if he sells 10 apples for Rs. x
in order to gain 20% and the remaining 2 apples for Rs. y in order to gain 25%, then x +y=
@B Hod il 12 ebd “odis 240 Swok Fade. I8S* 10 wdd Dod 20%
OGrd) Fo6A™AE x drvots 0ok LS 2 eDE BodD 25% ':J("u‘{?ﬂ' FosT8
VGt t.::J:%-‘iE.I‘.G, GIYES x ¢+ y =) :

(1) 320 T (2)2907 (3) 360 (4) 240

S, WL N SRS .t - AR
72, The marked price of all the groceries in @ shop is fixed at a price 19% more than their cost

price. If'the weighing machine in that shop shows 850 gms weight as 1 kg, then the profit

percent of that shop keeper is i
_ ol S5 o' Sorar SiPe BE8E o, £3) ¢6 K08 19% 89,5 G ATBoT .
B ¢ DS P0G drdF chogo 850 (rive whPB 1 Sy m Srdigel, wiyd e

G5 o dd dxs), od o /
(ry 20 (2) 30 40 (4) 28

73.  Aman sold his table at a loss of 11%. Had he sold it for a profit of 11%, he would have got
Rs. 121 more than its earlier selling price. Then the cost price (in rupees) of that table is

e e — e S

| of Sg8 I8 Do o 11% 3308 dfcvomTdd. 83¢ vwdd oIl 11% oerds
] — e B
I Donod @od, S =0 36" T8 IS vfo §6 o8 121 druéa__:féab;'m‘
i[ .‘.’3'3‘)&. oY © i‘&:“:.::g SR §S) &6 (ErSches?)
: (1) 1,500 (2) 1,300 (3) 1,100 550 |

1 . :
74. A certain sum is lent out for simple interest at the rate of 12-:-2—% per year. Then the time

1A
d period (in years) required to get the total amount equal to twice that of the principal is ‘

_ I )
o€ AJR S0 SoSd)orRs 12;% Bos mﬁﬁé; QEh. BHeo FH0E 3oy

- .

oy Sndo ST SosTas eSsdiahy Fo 5550 (Sosgros)
~() 8 (2) 10 (3) 12 4) 6

AT e 158
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n 4 years at the rate of

75. Ifa certain sum amounts to Rs. 13,310 in 3 ycars and Rs. 14,641 i
interest 7% compounded annually, then r = 5
r% O WESE Bt o8 IPY TS0 3 HoSdyEsnes’ 13,310 Grie 3ngormas

208050 4 Hosddnest 14,641 e Soodorrso wond, WY@ I =

(1) 8 10 (3) 12 (4) 15

76. Nutrition in Cuscuta reflexa is (é ~\ b
(1) Autotrophic nutrition (2) Holozoic nutrition \’5“ U\
(3) Saprozoic nutrition (4) Parasitic nutrition \
Edom b BEYS* Fde T\
(1) Dgodo Fdeo (2) =rodS FEe
(3) HrosHs i (4) Bod) ESS0

77. Mendel’s monohybrid phenotypic ratio of garden pea plants in F, generation is
&'t 2omd 300k BSonodod F, EGos* JodS DE Ho¥d Ho¥dm S)FgSrDd G
(1) 1:2:1 ,aa/}’l (3) Ll (4) 9:3:3:1
78. Sexually transmitted disease gonorrhea is caused by
(1) Neisseria (2) Treponema (3) Trichomonas (4) Chlamydia
Bohg Hodd), T§d Wons HHocSrS LHRTRTA

(1) Soctr 2) @S (3) J&ras 4) sddoir
79. Match the following.
List - I (Scientific Name (Genus)) List - II (Common Name)
a) Naja i)  RatSnake
, b)  Bungarus ii) Cobra
i ¢) Pwas : iii) Viper
f d)  Tropidonotus iv) Krait

} v)  Pond Snake
BoB TR BEHES0b.

Al | (e‘@oﬁa TS0 (Hz8)) wde - 1l (rerde 3500)
a) T i) BOFrEK
b) ewormrd®—__ ) aedodrs
c) &rgd e i) sE>a
d) (EBETOE TNy farse
V) DS

The correct answer is :
BOGH BTGB

a-v, b-i, c-iv, d-ii (2) a-ii, b-iv, ¢-i, d-v
Q) aviil, bei, c-iv, e A4 i, beiv, ceid, dei
. i

I e
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80. ;\ﬁlaja cz}r? be cured by quinine, which is an alkaloid extracted from the bark of
( zaalracla (2) Vinca
(3) Pongamia (4) Cinchona
L0 BEGs 5306 Bofirodd &35 ©3 sy orandd 2B TGRS INIFAAG.
(1) werdds (2) dos
(3) Zromdscdr ,(,4%/505‘.3‘
81. Match the following.
[ist-] List-11
a)  Papaver i)  Scopolamine
b) Azadirachia i)  Morphine
¢) Datura iii) Reserpine
d)  Rauwolfia iv)  Nimbin
v)  Nicotine
Bold O 26J65ch.
erfea - | Do -1l
a) H>SE i) Mo
b) wardds i) .‘.'mBJ.S
¢) &I iii) 0™0y®
d) ot iv) Q0D
V) RE'8S
The correct answer is :
J0ELS SB>rTIS
(1) a-ii, b-iv, c-v, d-i 27 aii, b-iv, ¢, d-iii
(3) a-iii, b-i, c-iv, d-ii (4) a-v, b-i, c-iv, d-iii
82. Spirogyra is included in )
(1) Algae (2) Pteridophyta
(3) Bryophyta (4) Mosses
oA AJes* BE2AI38
(1) 3dered (2) Boaplr=
83. Saheliis

(1) Condom thatis used as a barrier
(3) Contraceptive injection

S0 ud0

(1) e36'Gom dABrhod &dID
(3) a‘idaz)s‘dé 28 oo

(2) Intrauterine device
(4) Oral contraceptive

(2) doyicsrods aGSo=
(4) AGRE'EE I8 S

IO

17-B
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4. From the following, identify the correct statement. |

(1) Inphotosynthesis, one of the by products is Oxygen. |
€ (2) Thesystem of interconnected protoplasts of neighbouring cells is known as apoplast
y system.

(3) Thetransport of materials through xylem is bidirectional.
s (4) Most of the minerals enter the root by simple diffusion.
< Bob TIS* JJS Ty $80S08.
(1) 88e 2dg SoRrK oSt viES w8 adad)do. -
(2) BF, B, oo @' yno S8 wodd Honod oOE) WFTY H§5Y wotrdd.
(3) T Ogo TTO Sorea Body BFoSt 2drd0b.

_. (4) To 5o Pz OST A% SE DY dvdwo TITT DRJ;00.
l_ 85. Scrubbers are used to control this pollutant
l) - oh) Sulphur dioxide _ (2) Carbon monoxide
(3) Carbon dioxide (4) Nitrogen peroxide
& STORgS'R) Qa0 @03TI8 ()25 DARBFALL.
| (1) 305 dasrg)s « ' (2) sES IrTBb
(3) sES GoEb (@) &'z poYE
86. This plantis vegetatively propagated by lcafbuds
. (1) Bryophyllum (2) Chrysanthemum
(3) Agave (4) Asparagus
HE oo oo THArS8 2HYHEI o),
(1) @ErdeD < (2) @3‘0&5&35)
(3) eiS (4) e00S

87. Which one of the following is not the correct cause for the Revolt of 1857?
(1) Suspission about the religious conversion activities of Christian missionaries
(2) Doctrine of Lapse
(3) Non-payment of Royalties and pensions to certain Royal families
(4) Peasants were given concurrions during droughts
1857 8ofoertnd & 1808 FTAS* DB IS 5°Cwo 5°?
B335 Dousbe HE S38)8 SEESTO D) BRBTII0
(2) orag dogdoe dodo
(3) Fodd ora Sotnoheoss Fdrwr B0005w Dogdoewn BDowERFSK0
(4) 8&PH dDockod' Do Tro0ddSgt0

(——— .
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Choose the incorrect sentence regarding the Amoghavarsha of the Rashtrakuta. He

/(1)
(2)
(3)
(4)

EEE

w6

Established Matrimonial alliances with Vengi rulers
Wrote “Kavirajamarga™

Built Kailasanatha temple at Ellora

Built a new capital city, Manyakheta
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crvhsﬂréa a&l:-méd:éé Qo0Hod HB5° TEgo JonE Bakod. wddd
(1) 30h FOHOS ITE Howogren SoFonydd
(2) “$dovz ;’).a‘go S SDow ko
A 3) 305:0‘6‘ Lo Rtat BOOST) BT
}ﬁ,)/g‘_é; T2 SrSgBeads ABloweed

89. Identify the wrong pair.
(1) Indian National Congress - 1885
(2) Dinabandhu Saarvajanik Sabha - 1882
(3) Poona Pact - 1932
(4) Aligarh Muslim University - 1870
205" 28 HBoHAw.
(1) 208008 IASS srofid - 1885
_A2) B&wogh dgads 5% - 1882
(3) T wdyodo - 1932
TOME BRI go B0 QS’?O')@

90. Which of the following was not the title of Mahendrz-iva.rman_- 1?

f (1) Mattavilasa (2) Vichitrachitta

| : i (4) Chitrakarapuli
. (3) Dakshinapathapathi : p

§0B TAS* I HIroESES DO 5B I6?

(1) Sogders (2) 20g0g

/)/ﬂ’rgea*acsga (4) DSEO
91. Who founded “The East India Association” at London?

y (1) Dadabhai Naoroji (2) Motilal Nehru
j (3) Bala Gangadhar Tilak (4) Rabindranath Tagore
| 0BS5S “&S R080Sr wRIVEHAS” FHODITBE?

G‘cs"arog: Jo'2 (2) IrderS JPv
(3) oo Korgd 8oF (4) BJoEa§ Toirs

LR 19-B

e ———
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92. Land donated to Jain institutions is referred to as

(1) Vellanvagai (2) Shalabhoga

(3) Devadana (4) Pallichchandam
BS dogo TS5 D005H288 FErdnod R L&) oLrd.

(1) 3esan (2)" Jozx'd
Mécs‘:& (4) H9yodo

93. Which one of the following was not a demand of the moderates?
(1) Expansion of Legislative Councils
(2) Larger share of Indians in Public services
(3) Reduction in heavy land revenue
(4) Demand for complete independence
& Bod TS WwET G Airodkd S8 JB?
(1) BzHhs TYF) 236
S (2) 285 SIS oy 8BS vY T DR
(3) ©BE graky Shohd
9) Boirg adodgo ok BTl

-

94. Who was the first woman that turned as the Bhikkhuni in Buddhist sangha?

(1) Yasodhara (2) Priyadarshini
(3) Mahaprajapati Gautami (4) Amrapali
TG Soos® PERIM Sr0S FO WY I56?
(1) pale] (2) @8
A3) BT Perd8 TS (4) oEId
95. Who popularised revolutionary ideas outside India?
(1) ArunaAsafAli ! (2) Kadambini Ganguly
(3) Madam Cama (4) Prithi Latha
8830 Beodo IPS el TEHYVVIL IS6H? '
(1) o 93D ©O (2) 5760 KoKrd
do &> 4) 8 od :
96. Where did British build Fort St. George? _J'S:
(1) Calcutta : (2) Madras
(3) Bombay (4) Machilipatnam
DBETE onols IELD I8, Qﬁéomvdg?
(1) sese Z) Sordo
____9_)__2?‘_??—— (4) 30085850
A 20.8
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97, Whichone of the following is not the concept of Mahayana Buddhism?
(1) Buddha was regarded as one of the incarnations of Vishnu.
(2) Buddha could ensure salvation.
(3 }‘ The worship of images of Buddha.
(4), The concept of Bodhisatta (Bodhisatva).
9 §03 TAS' DB DTS Fo Bk, TSI $I6?
(1) 20 DR Bk, o3& 8o erdoan.
()| 2R gy asghosd.
(3) | R PSS sordoto.
(4) |5G3E (503g) S5
98. Whidh of the following work vividly described the rural life of the Satavahana period?
(1) Brihatkatha (2) Leelavathi
(3) Gadha Saptasati (4) Suhrulekha -
6ol 8* J ogo TS SO (e 2Ie°)) dSGor 5pB08?
(1) T E _2) derss
(3) T 3H¥8 (4) RBodoyByp
99. The caliest coins that bear the names and images of rulers were issued by
(1) 'The Mauryans (2) ThelIndo-Greeks
(3) The Guptas : (4) TheHuns
9 Dofod HE) 0k IO FHYS EOA &) & TBod =b DS ;D
' (1)/ $38gw0 (2) =mo& - Hisoen
r. ) "bb”” (4) Soeoen
100. In whicl year the Muslim League was found? '
(1) 19)5AD. (2) 1906A.D.
(3) 1997AD. ‘(4) 1908A.D.
S0%0df boBLES SoSHso IB?
® @
(1) &4 1905 )‘:‘? 8.4. 1906
. B4 1907 . (4) 4. 1908
' 101. Who am{ng the following was the last Mughal Emperor? |
' (1) Ahbad Shah ) Alamgirll
(3) ShaAlamlIl (4) Farrukh Siyar
& 8o FOS* 5 DB Toodoen WESR?
(1) o5y 2 © (2) weowS I
2 ebo I ' (4) HErE HASrE

(T e 218 L B
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102. Identify the incorrect pair of the following leaders of the Swadesi Movement with the’
places where they propagated.
(1) HaiderRaza - Delhi (2) BalaGangadhar Tilak - Pune _
(3) Ajit Singh - Punjab (4) C.V.RajaGopalachari - Madras |
8o 658-'8 &8gd Idod, T RS0 808 PATOH 5020500 335«';0{5&;30
KoBowdd». |
g _(1)'_:3?555' Ee —E.’TQ] (2) wro forEs 80§ - Fa |
J%gbja__éi_?g_oﬁ - Do d (4) 2.2. vz Arood - 5:@_5__‘;_____ [

103. Which of the following statement related to Shajahan is not correct? /
(1) His original name was Khurram.
(2) Abdul Hamid Lahari was one of his Court poets.
(3) He failed torccover Kandahar which was lost by his father.
(4) He ordered to hang Sikh Guru Arjun.
305550 Honohod & §ob TEgENed’ I8 B0sTIB?
(1) 03 wden Wk wEo.
(2) w8 8IS EHost nE wd TNE orIrd.
(3) &% dod §'Styo0s sr085t6 |Froddnsy 80N FoSGost vds dHoSofTgid.
SES K280 W &0HHHR esa;ﬁ:oa:ﬁs.

104. Who represented the Indian National Congress in the Second Round Table Corference in

London?

(1) Jawaharlal Nehru (2) KhanAbdul GaffarKhan

(3) Subhash Chandra Bose (4) Mahatma Gandhi

©odSS* BodS TobBwS 4<33fos® wrbd =HcH FoEnh @8Ege|STroDIB
QS5E?

(1) 2556 o I (2) oS oS 56 R

(3) Hozra Ho|85*R /(4)/531’.:‘5‘&' mod

105. Choose the incorrect sentence rcgarding'lhe agriculture of the Indus Valley ciilisation. _

(1) Terracotta models of plough found at Ba-nwali. '
(2) Evidenceof ploughed field found at Kalibangan.
(3) Tracesof canals have been found i_n Punjab.
(4) Water reservoirs found in Dholavira.
508> JHOES 5555‘3'05:‘35 4000000 HOER T EHL doNE Boob.

9 pagdS O Boo), BEE'Lr SSrTd gl ano.

/(2) s dnoKSS* THOS oS o wdTdy SSrand.

(3) 4orSeS® TNV Bd3TR) ESofr .

4) SeoDES” 5i3 B220go08) ESof I

LT |
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106, Separate Electorates for Muslims was introduced for
following Act?

(1) Montague Chelmsford reforms, 1919
(2) Government of India Act, 1935
(3) Indian Councils Act, 1892
(4) Minto-Morley reforms, 1909 \
Snpoots BEgE IBr2E5q0B8 IS Eob 9 FQoe* PIFpE0b0s?
(1), S70BF Bi3n3§ Sod) e, 1919 :
(2) | H56)305 S noBose oS>§, 1935
(3) =0&05s TG as>r§, 1892
()05 553 o, Ses, 1909

the first time in which of the

107. During the Chola period “Variams®™ means

(1) Village committees (2) Village wards
(3) Donations (4) Taxes

C) G'ho sreodt .:J‘f&gi,’g» elSm

' (1) rd 28 (2) rd TR
(3) doeren (4) S3ne

108. In 1946, Which body is aimed to devise a plan for India’s Independence?
(1) Cripps Mission (2) Mountbatten Plan
(3) Cabinet Mission (4) Wavel Plan
1946 5* rESBIS0IE ;3‘560@5.'130&6.)0 %000 D8 Erdrobolars & (Eod TN

théélom‘d)?
(1) 8 aS MS@&JS De ¥
(3) $DIS DAS (4) I3& e 8

109. Which is the last dynasty in the Delhi Sultanate?

(1) Tughlaq dynasty (2) Khilji dynasty

(3) Slave dynasty (4) Lodidynasty

& 808 TS' DO B WS So¥swed’ DS66? 9;/)24
o S .

A &8 Sodo ) 9§ Sovo

}}) Q% Sodor" A '8 Sodo
OO T O
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110. Match the following.

List-1 List - 11

a) Lahore Conspiracy case i)  Suryasen

b)  Hindusthan Republic Army ii)  Shyamji Krishnavarma

c) IndiaHouse iii) Ram Prasad Bismil

d) Kakori Conspiracy case iv) Bhagath singh

B0 T8 2dB8H5®.
e -1 e - 11

a) oF6 St i BrEgON

b) TS 8DE wb Ty §HRS6)

C) o&osr 6
d) &5% S
The correct answer is :
DOGS HIPTES .

a-i, b-ii, c-iii, d-iv o v b, ik, dia

(3) a-iv, b-ii. c-i, d-iii - % a-ii, b-i, c-iii, d-iv

oD BFE S
gKS Doh

111. Identify the correct pair among the following that belonged to Mughal Administration.

(1) MirBakshi -  War Minister
(2) ChiefQazi -  Minister incharge of Charities
(3) Vazr —  Prime Minister
(4) Vakil —  Finance Minister
A0S H0TOIL J02080D & o8 TIS* HODE 2EH KBoSHDw.
(1) 628 ~  ongHo@
T @ 85wz - soeniod (B =5 To85)
- (3) 326 — PEss0@

;}3/5:&6 | - ©RES0d -

112. The Saka King Nahapana was defeated by which of the following Satavahana kine?
(1) Srimukha (2) Satakamnil )
(3) Gautamiputra Satakarni (4) Yagnasri Satakarni
& 8ob TETTS T redt #Eoas ES'J;_‘&)‘Em&a L8008 582

(1) §300m6 (2) 30s8 Ty
‘@ﬁ‘é&b@@ rEsp 4] ozy mEsg
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The credit of shifting the Euro
goes to?

(1)  TheEnglish (2) TheDutch
Q30 (BSgS0e S00& erEdos; &’)@,&ou
53%91’3&’) 238 D508 d&b&dofﬁ?

113,

¢ A ) .
Pean trade from Spices to Indian cloths for the first time

(3) The Danes (4) TheFrench
2 Fr6HaHS TgErcsns: Bog3006e

M.aoﬁqmd) (2) &S (3) d5es @) Bods
114, \\fh.lch foreign traveller gave detailed account about Motupalli Port during the Kakatiya
period?
(1) AbdurRazak (2) Nicola de Cantj
(3) Marcopolo (4) Barbosa
2 DBY aSrBEeds s 5% SOOTE Irensd YK MHB0D eI H5ces R ?
(1) w28 gk (2) 50 8 fots
s (@) oy
ﬂﬂl.@) [dentify the temple which did not belong to the period of Guptas?
EE/ (1) Dasavatar temple at Devagarh (2) Sivatemple at Bhumra
(3) Kailasanatha temple at Ellora (4)  Vishnutemple at Tigawa
DYo 5 dE Bogd ST KgoSos,
1) BI06S5' Seded socsho (2) ZErs* 2areohHo
@0@:0‘6‘& SORTE socdho (4) GRS D QR v
[16. Match the following. b
a)  Chandupatla inscription i)  Victory of the Kakatiyas
b)  Vilasa copper plate inscription ii)  Oppressive rule of Muslims in South India
¢)  Kaluvacheru inscription iii) Death of Rudramadevi
d)  Draksharama inscription of iv)  Pathetic condition of the Hindus in
Malyala Hemadri Andhra desa
$0d T8O 2SS HIw. :
D - | e - 11
2)  Sodl TRSS® 1) s¥8aiwe duciren
b) Do e THI50 ii) ¢80 wééé-‘éoeﬁ"'én?goo VERNRS JeS
C) EendBS TS0 1i1) HISSBD SoeoSn

d) Deogordr@ Egod THSE0 V) ©oEdFod’ rodhHe EohIch 838

The correct answer is :

v
DORS JSrprSSw : o .
(1) a-i, b-iii, c-iv, d-ii ,(27/3-‘111, b-u, c-iv, d-l
(3) a-ii, b-iii, c-iv, d-i (4) a-iv, b-i, c-ii, d-iii
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(¥ Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247.

E{SE sicied |
%%};j | P-9 Booklet Code B

117. What are the Dharmasthiya and Kantakshodhan of the Mouryan period?

GETITON

Google Play

118.

(1)  Municipal councils (2) Courts

(3) Military units (4) Village Panchayats

STHgo sTvo T8 cﬁdééo:b 500050 EobBFES wdm JD?

(1) HEF0E Sodmen ,{/Zj’/g‘;oﬁa*ﬂq;a‘m

(3) 208 dermen (4) S Howronden

Match the following leader with the places where they revolted in 1857.

a)  Nana Sahcb i)  Oudh

b) Begum Hazrat Mahal - it) Kanpur

¢) LaxmiBai | iii) Barrakpur

d) Mangal Pandey iv) Jhansi

Bod Trchess 18576 oot @%bty BHS PRTOS wdddSod.
e - | ' e -1

a) a'fftl‘@:_’d‘as- .' s ,\-i’/ & 1) 035

b) BKo Tudd TS T i) 556

C) eogron - 5. ///‘)iii) adel3e)le)
d) Hook§ Fod — —— i) &
The correct answer is : '

HOGS BIPEEEN

/?/ a-i, b-ii, c-iii, d-iv A2, b, c-iv, dHiii
3) a-ii, b-iii, c-i, d-iv };&)a a-i, b-iv, c-iii, d-ii
119. Arrange the following Gupta rulers Chronologically.

a) Chandraguptall b) Vishnugupta

¢) Skandagupta d) Kumaragupta

80d HF oo sordEdonr ©iosn.

a) Bodd ﬁo@ﬁo@do@ 4 b). dRHYL

) HOBHYDD S>EKY
C\‘ (1) (a), (b),(c), (d) (@), (d), (), (b)

Oy, (@), ). ) 7@ (@@, ), @)

[l

T e
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120. Arrange the following

SR

EEE TR
RS =S
=<4 Booklet Code B o

: Sl

d4)  Madras Mahajana Sabha
b)  Madras Native Association

¢) Indian Association

d)  Poona Sarvajanik Sabha

Bod orzbch Rogod 8L FOoOIS JoS&)so srrdom SoESos" elodySwn.
a) DEH HFeS v ' '

=

_&
=

b) Joh IBS cHHDHAS 1¥S—
C) ROACHR eAIDHSDHAS

d o TS S

(1) (b)-(c)-(d)-(a) (2) (b)-(d)-(c)-(a)
J"'-}/(l) (h) (c) - (d) (4) (a)-(d)-(b)-(c)
I21. In which of the present districts of Andhra Pradesh, the Guntupalli Buddhist monuments
are located?
(1) Elurudistrict (2) Anakapalli district
(3) East Godavari district (4) NTRdistrict
HotHY T'¢ Aores BRd Bo@ERTS'Y J 2ot Eof?
() Sords & 2 (2) ©i3sdd zer
" @ oy HE30 2o (4) NTRzer
!
122, An object is dropped freely from a height of 125 m. The time taken by the object to reach
the ground is
(Take acceleration due to gravity = 10 ms™ 2)
125 m & Sood o8 SRHH Vg™ Eosss = OB K. SY as:-a:a Doboso Sy
S0
(Fososs dmoso 10 ms™ m %8 Hodw)
(1) 2s 27 5 (3) 10s (4) 20s
123. The time taken by sound wave to travel a distance of 1050 m in air is

(Speed of sound in air is 350 ms~!)
mOs* 1050 m &80 (Basredohirsd §50 S6omrAs Sty sTwo

(Mos* ¢ 38 350 ms™)
(1) 65 £2) 3s (3) 2s (4) 1s
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124. If*v* is the lincar speed of a particle moving in a circular path of radius ‘R’, then the angular
speed of the particle is
Tggo ‘R’ fio w8 5)515°6 Srgocs” Eeoenii) 2.8 mo has 38 ‘v wond, & Emo
Sog), Eefoso 38
v

. v p
0 2 @ R @ % (4) W

125. Aman walks 10 m horizontally by holding a box of mass 10 kg on his head. Work done by
gravitational force on the box in joule is
(Acccleration due to gravity = 10 ms™2)

10 kg 656078 flo 8 D dodod DERER w8 $Hdh §82 dSroddorm 10 m &»do
S6DS, D rbd)s*_gédsa weo Todw .J&) F5* .
(Ko Sx6m0 = 10 ms™2) ',
(1) 100 . 2) 1000 3) 10 ) 0 E

126. Ifthespeed of lightinamedium is 1.25 x 108 ms™! and the speed of light in airis 3 x 108 ms™, then
the refractive index of the medium is

G Scanned with OKEN Scanne

28 O5rSE0sS® 5708 S8 1.25 x 108 ms™! H0csn mos* 5708 58 3 x 108 ms™!, wans
oS80 Bk, SEESS Heso
(1) 2.4 (2) 2.9 (3) 1.4 (4) 3.6

127. Current through 5 Q resistor in the given circuit is
a3@dd Sochos® 5Q A8EE0 oo ISYE Pardro
10Q
VWAV

20V 5 % 5Q
4 3

(1) 0A« (2) 4A (3) EA P C) ZA :

128. Heat is supplied to two substances A and B of same mass at the same constant rate. If the

ratio of the specific heat capacities of the substances A and B is1:2, then the ratio of the .

rates at which the temperatures of the substances A and B rise is -;

JSrS (ESgodben fo A, B ol Sok Sogesd a8 Btd éfﬁo VEHor BaH 858, '
A S8050 B sJD"’G‘t’.J D%’ﬁ"g E?J‘GSJU"SU Dﬂ‘he? 1 2 wond, A 5980%m B & .,:chcng_-, ﬁ%:lﬁé‘w ;
oA Bioo m’)a , i
()~ 12 (2) 2:1 (3) 1 (4) 1:4 <

A 2.3
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2¢ solution of X § -
129. ;’\ solt Iu}n 0: X is used for white w ashing walls. X on reaction with CO, of air slowly and
orms a thin layer of compound Y on the w alls. What are X and Y? -

X @08, & derR) Adeoss > UM SEXLrE S, Xmoes' CO, & I208m SET08
ffdon Yol rum,ﬁ«'c‘éo R0, DS 63 Qo‘)mmou X, Yen 297 5

(1) CaO, (_d(OH)., (2) CaCO,.Ca(OH),

(3) Ca(OH),, CaCO, (4) CaCo, CaCO;

130. Identify the correct statements from the following.

I)  Thegascous products formed in chlor-alkali process are Cl,,
II)  At25°C pH of a neutral solution is more than 7.

lI) - Graphite is an allotrope of sulphur,

IV)  Potassium metal can be cut with a knife.

(1) LIVonly (2) ILIVonly

(3) HLIVonly (4) 1L I only
Bod 8BS Logd SEmpods lothiw.

) s0-wed 2o ,.L.u‘ 26yd o adyonw Cl,, H,.

X b
1) 25°C 3G LN e dwo pH 7 E37) D635,

1) oed peyd :23:5'& d>rJroddo.

IV) Sirtioho S'S4) HE Babdon.

(1) LIVarmgS (2) ILIV 3@
3) HLIVIregd - (4) I I Soveg

131. The metal *X" liberates hydrogen gas with dilute hydrochloric acid, while the metal *Y?
does not liberate hydrogen gas with the same acid. X and Y are respectively
X' o S'Eo Sze TE'E05 308" S0 GRS TrainH ddde B308.
wod ©d 6oE Y vd S'Eo WIE'RS ToinHH ddde Do, X, Y oo S&dm
(1) MgAl (2) Zn,Al (3) Zn,Cu (4) Cu,Zn '

132. Identify the pair of oxides which show both acidic as well as basic behaviour.
B S0 576 SgarSo Bo&08N (BE8) 0T EE:QEU 20L& HBoTHSw.
(1) Na,O,K,0 (2) CuO,FeO
(3) AlO3Na,0 (4) ZnO,Al,04

LT 20
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133. Match the following

List - T (Ore formula) List - II (Name of the ore)
a)  AlLO;2H,0 i)  Magnetite
b) MnO, i1)  Cinnabar
¢) Fe0, iii) Carnallite
d) HeS ' iv)  Pyrolusite
v) Bauxite

Bod T8 283 HSn

|
wde -1 (Té F6e) e - 1 (réo S0) |
a)  ALO,2H,0 ) SreBs |
b)  MnO, i) D96
¢) Fe0, iii) $6Be
d) HeS V) e
V) ar?:gég

The correct answer is :
‘:6&@3:\’) RDIATTTERD

(1) a-ii, b-iii, c-iv, d-v

@ a-v, beiv, e, deii

(3) a-v, b-iv, c-ii, d-iii

(4) a-iii, b-i, c-ii, d-iv

R ——

134. An element ‘X’ reacts with Oxygen and forms a compound with high melting point. This
compound also reacts with water. What is ‘X*?

X ol Srofo u§zis8’ Sy Sod wiE (BAEFSS %‘:‘60 o 2,8 éBaéﬁavaal 2908, &
Sdoydso DS Sror IEgTotod08. X’ 0S8 DE?

1) C (2)_Fe @ C @) Si

135. Electrolysis of brine liberates a gas ‘X" at cathode and gas ‘Y” at anode. What are X andY?
&S (Brine) & ddoghgiemo mIodIByd 566 3¢ X’ 0 saknd), u5E 38 Y’
@ TNy JenSdeton. X, Yoo 29?

(1) O,H, (2) H,Cl, (3) H,F, (4) CO,H, 3

(T 308
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136. Which type of ores are converted into oxides by heating strongly i
air?

|
in the presence of excess |

fl) Sulphide (2) Nitrate (3) Carbonate (4) Halide

@ 080 TEZod (328 pdzed) 68 md SRFoS" e IATISBYE ©d s§Feorr
57666337 X

(1) #&\6 (2) 3@ (3) SIS (4) B8

137. Global Warming is due to

(1)  Ozone depletion (2) Green house effect

(3) UV radiation (4) Haldane effect
_ $roirab 5omo
; (1) &8'S fos:

() 508 Ky darsSo

. (3) UVIstmo (4) S¢S wardo
: 138. Statement 1 In pl'*ms_thn glucose for ;L.I\ wl\ sis is derived from sucrose.

J! Statement Il During plycolysis, glucose and fructose are phosphorylated to giverise to

glucose-6-phosphate by hexokinase.
(1) Bothstatements | and 1] are truce.

8 (2) Both statements | and 11 are false.

! J, (3) Statement ] is correct, but statement 11 is false.

3 (4)  Statement | is false, but statement 11 is true.

.‘ rgwg |- wH e Bsehil eIBODS Ared woE'w 08 dodieron.
| argeg 1l ‘55‘&----0 =E)E3: OO Su Arsle, e FMOTAS Bod
i SovEte-6- ;“*’f.,vt.,; .'.‘,o'\&,é..uﬁ
. (1) agwged I, 11 88 SR
‘.' (2) agwges I, 1150030 53,

\ i (3) argwg 1 SOLIB, 5 Tgwg Il 3880586 sco.

(4) ogwg 1908 338 57680, 57 Trgpg Il Seosa.

L 139, Pick up the wrongly matched pair.
I (1) Platyhelminthes — Flame cells

o (2) Nematoda - chen‘e .cells
5 (3) Annelids — Nephridia

20 (4) Molluscs —  Green glands

'T SSym &) 2dso HYoSed.
(1) 3.‘_’5-@@&0&5 - =g Seren
(2) Ivs‘e — 038 Seorew
(3) wnOben - 55 e (FEacr)
(4) BooS)eo - 508 \Hogoen

(T 318

(¥ Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda _ %Eggcaie Play

15@
E]li.‘ Booklet Code B

140. Assertion (A): Ina lake ecosystem, fishes arc described as nektor.
Reason (R):  They are capable to swim in water.
(I) Both (A)and (R) are correct; (R) is correct explanation for (A). ;
(2) Both (A)and (R) are correct; (R) is not corrcct explanation for (A).
(3) (A)is correct and (R) is not correct.
(4) (A)is not correct and (R) is correct.
Qgydo (A): D6XY) ErS8e BgIYST, Dok ITS ©d 59550 80.
s°de0 (R): ©d JBS* &EKOR Fdoggo E0A erotrom.
£1) (A) 28050 (R) 3ok L0ID; (R) 0938 (A) & 50808 DSdeo.
(2) (A) 320052 (R)Bod> $653059; (R) w6 (A) & 303 DS 5.
(3) (A) QBGHE BoBasw (R) NOGRE 5.
(4) (A)D88036 576 Bo80sw (R) doghisa.

141. The number of fundamental subjects listed in the cleventh schedule of the Indian Constitution
e s O“zz‘goﬁoo’“‘a Tl Yrtn] "ac&rg'ﬁe_‘i‘ FoOHBAS (rFE woT o éong

AP T18 (2) 28

L (3) 29 4) 19
@I'Iw tenure of member countries in the Social and Economic Council of UNO
(1) 2yecars (2) 3years
(3) 4 years (4) Syecars
PEGTTRGONE GA0E), JroE {Ja&o&n eagé D0EOS® g dT0 HEDseo
a (1) 2 Sosdoren 2773 sosgoes
(3) 4 Sosgoren . (4) 5 Bosdoes i

143. Which Constitutional Amendment Act has reduced voting Age I'rom 21 to 18 years in India? I
(1) 60t Constitutional Amendment Act ;

(2) 615 Constitutional Amendment Act i

(3) 62" Constitutional Amendment Act. :

(4) 63" Constitutional Amendment Act | f
EEB¥oes” ) Tramgolf D56 P40 L30f SaDHdydd 21 $o0d 18&05%0‘0@ EHICTARTAY A

(1) 605 orzrgolf SS56e0 w0
2y 613 orargolf dS58e0 Who

o (3) 625 orargolf S5 S&o
(4) 635 orargoli d36e0 WHo

-l|||l|||lIllIIHHIIIIIlIHIIIIIIWIIIIIIIII 28
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144. Under which article of Indian Constitution, Inter-State Council w
(1) Article 253 (2) Article 263
(3) Article 275 (4) Article 285
08 TargofiSne®d & s8€6m0 O30 0807350040 Jomydn Bosod 20ASH.
(1) 25335 w8860 2y 2633 ©p¢6m0
(3) 2755 «HEb=c (4) 28535 w80

145. In this part of the Indian Constitution, prov
incorporated.

as cstablished?

isions relating to municipal bodies are

) 708 Cergoliod D) 4 rhost Sa5SE Soguk 50w0000S Bore FoBEIRE.

(1) PanIXA (2)"Part X A (3 Part IX B 4D PartXIB
146. Identify the number of ladguages included in 8 Schedule of IndianConstitution at present.
68 Tergofioc™ 8 Ldrgo Sod (Bydo FodBGLAS erdo dopgdo HBousod.

| 22 (2) 18 (3) 24 (4) 26
& ’-:‘._ — ‘_‘ . . . - - - - .
i ( 14 7) I'he tenure of non permanent member countries in the Security Council of United Nations is
, , (1) 2ycars (2) 4ycars
| (3) 5ycars (4) 6 ycars
i_ wEgoTEE DG FEer B0ddd* erid 3y dro 38d5 w0
! (1) 2 Joddoren (2) 4 JoSd&oren

(3)—5 oS0 e @) 6 sosgoen

148. _'l:hc founder of Bahujan Samaj Party .

(1) Mayawati (2) Mulayam Singh Yadav

(3) Kanshi Ram | (4) Prakash Ambedkar

RIvRS Jdrd > Ig3ydsoen

(1) Sorasird3s } ._(,lf)/:'mwod:o off SrdS

3) s oS (4) ©5Q wod8) s

149, The Estimates Committee in Parliament consists of
(1) 30 Members from both Lok Sabha and Rajya Sabha .
(2) 30 Members from only Lok Sabha
(3) 30 Members from only Rajya Sabha .
(4)  Some Members from Rajya Sabha and the other Members are nominated from outside
IR0 wodsare HDodoo & (§od DO EOA Boddin?
(1)' S50 HoBodn TragdFe Sod 30 S008 dghgen
L2y SB35 30 S008 Hebgen SrED
(3) U‘agzéw'eb"&) 30 208 Sghgen ;’:.‘1‘@533 o
(4) §£8 So0d dgbgen U‘zz.s.-’oaj %508 B0 AN .‘6253500 20308 Lol W
DoSoada .

LR 3-8

AHES v
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{50/ Which one of the following is not a characteristic feature of developing countries like India?
(1) Income inequalities
(2) Predominance of non-agricultural sector
(3) High incidence of poverty
(4) Scarcity of capital

Bod TES* 6880 S0l wDIYH Bo&Hd) dre Ugsa

' -f_‘

(1) soroh eldsrsden
o

(—)

S55HEE Sorre [ Faogd
wBE Fon wEd¥o
(4) Srods £68 |

151. Which one of the following organisations furnish the National Income estimates of India? i

(1) €S0 (2) CAG
(3) RBL (4) ISIL
& 8ob TBS" wEIBY 8o wIeH wosToH Errodod S0y IB?
(1) D.05%.2. 2755 (CAG)
- (3) u6.hz. (4) o.0%%.2.
152, Asper 2011 census, the number of people depend on agriculture sector in India is
(1) 263 million (2) 273 million
(3) 268 million ' (4) 275 million
2011 zorer B8 0 @560 rdERiod” SgErah JoroD BEFEIAS Sgshe dopg
(1) 263 2O £2) 273 200cH&
(3) 268 2OcHI (4) 275 DOHE

153. Which among the following programmes is not aimed at creating supplementary cmployment i
to the poor?

(1) BRER (2) TRYSEM ' i
(3) NREP (4) SEPUP ]
& 1808 TS* e wdwold GBI §dy oS0 e.;g{sonf B2 d¢%0 D82

7 (1) &%.x.%. (DPEP) (2) 8.u63.008.9.00%. (TRYSEM)
(3) JN.sbad (NREP) (4) 0%08.2.2.050.5 (SEPUP) |

154. As per Industrial Policy Resolution 1948, in which schedule the Coal, Iron and Steel
industries were included? |

(1) ScheduleA (2) ScheduleB \
-(3) ScheduleC (4) ScheduleD 1
1948 0208 2675 Borgio B0, S, a0 0N ¢Ey ToESoes D hdngSSt |
BywdTon? :

7 (1) udrgS A A7) ndrgS B i
(3) adrgS C (4) RdrgsS D E

(T 308
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155. The Reserve Bank of India (RBI) was nationalised on
(1) April 1, 1935 (2) January 1, 1945

(3) January 1, 1949 (4) March 1, 1949
8 D28 wrgosy (RBI) T EorESn Bobhads 38

(1) @S 1, 1935 (2) =558 1, 1945
(B3Y=5506 1, 1949 (4) S0y 1, 1949

156. Which one of the following

basic dimensions is not considered in the calculation of Human
Development Index (HDI)?

(1) Infant mortality (2) Longevity oflife

(3) Knowledge (4) Standard of living

6 800 8BS 5185 e %0 (HDI) B8,095° 50K 08 G283 26208
©®oFSD AB? 'I

(1) 3% Sderen 4’2’)/&.:}6 5®0
(3) o Q{%}——éﬁ&’) Pore00

T

157. As per 2011 census, which one of the following districts in Andhra Pradesh (after 2014
bifurcation) has the lowest literacy rate?

(1) West Godavari (2). Anantapur
(3) Vizianagaram (4) Y.S.R.Kadapa
2011 250 85,0 ($5°60, soFWAT D‘é}od‘ (2014 Dzs23:8 ®30860) & (§od 2ot

vdgo) VEoTIgE B EYosns) zer JB?
(1) 3% Aoss Moé@*ﬁ 14

(3) DmchHisKdo | @7 YSR.g85 :
158. Who argued that the foreign trade has strong ‘Backwash Effects’?
(1)  Arthur Dunkel (2) Gunnar Myrdal
(3) Arthur Lewis (4) Prebisch
9 B FreBago woBS @a8awe (Backwash) @??P&J’Fﬁﬁ G0 IS TBoTE?
A (1) ©g5 $08S (2) HE gs
y ()66 oran® (4) o8
1l ——t T8
ﬂ 159. Which organization’s functions were taken over by the WTO?
D B0 o, Do WTO B58od? |
(1) IMF (2) IBRD
_B3Y"GATT @) IFC

U 35
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160. Match the following books with authors.
List-1 List-1I

a)  Mountain Mammals of the World : i)  Manoj Mukund Naravane

b)  Knife : Meditations After an Attempted Murder  ii) M.K. Ranjitsinh

c) Four Stars of Destiny : An Autobiography iii) Shashi Tharoor

d) A Wonderland of Words : Around the Word iv)  Salman Rushdic

e in 101 Essays
808 YJFrodH T8 SSonded® 28365048,

e -1 deae - 1
2) EToBowS Srded) uH & 36§ ) SHSE Swgob S653
b) 3% &BLEY) ©PE IS IBoRE K6 il) MK ozdd, |
c) 6 6 uH ARD: IF wiSwarEd iii) 43 ¢6r6 I
d) 2 5046 crob 6P 5§ ITE & 5§ aS iv) oS o :
101 %S

The correct answer is :
POGDS dJrerddmw ¢
(1) a-ii, B3y, c-iii, d-i (2) a-ii, by, c-i, d-iii

i
(3 a-iii, Biv, c-ii, d-i MY, aiv, b, c-ii, d-i :

161. In October 2024 the Union Cabinet has apprdvcd setting up of Rs. 1000 crore Venture
Capital fund dedicated to space sector. In connection to this which of the following sentence
is incorrect?

(1) The proposed fund for the financial year 2025-26 is estimated at Rs. 150 crore.
(2) This Venture Capital is developed under the aegis of IN-SPACe.
(3) Approximately 150 startups will be supported.

(4) Indicative range of investment proposed during late growth stage is Rs. 30 crore to
Rs. 60 crore. '

2024 w§w6s* 3ol THIE ©oddEEOmRS 6. 1000 LS J0$6 EDBS Ho& Domyeio
&sir&oi’)o& A8 Jo20Hod HB5R a‘égo 287?

(1) 2025-26 eagé D03 A8 (HABoNS woriT B & 150 §'e. 5

(2) & 3056 s7gnesdS IN-SPACe es¢igsgoe* ©RS)R Bobados. [

3y Dosrdo 150 w8 Boges Sogd ©DB08.

(4) :36.‘65555:{6‘ Digud VYA RS H8FTB0DS ¥IG sl . 30 §'4 008
. 60 8.

lIIIlIIIIHIIlllIIIl\IHI\lIIIIIIIIIIIIIIIIII 6B ' |
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162. Theme of Vigilance Awareness Week - 2024 is
I (1) Say noto Corruption : Committo_\*;fi(;i1
(2) Culture of Integrity for Nation’s Pr.omf"it\‘
(3) Corruption Free India for Dcvclboncd-‘\':‘tic.m
(4) Corruption is Hurdle to Dcx'elop:ﬁcn£ )

2024 2285 eSSy —

e -

~ o -
2 ES et il nll
) M v E=0 G5, méddo
A -~ -
(1) @B 3 Bioh - Zane » X .
o 2 o We O CTIs Bl o
2 CT8 Blomd dodod
(7 ) of o, P — - -
-) Li(i‘slli - ,J ::»:-'"- r :ﬂ‘/-'
B¢ .. S S e
‘(; N - -
- 3 o, >
3T ©DHD BolS Bfo B wenbha GIab]
vy wWers L20 b0 Band Jord o dd8%0
o b -
e Y ; ; ’
f4} oledtd G _\," t1fs o
R Hobo

163. On 27 October. 2024 the hiohecr i he G ! i i

§ Jt}.jn.;u. 2024 the highest offices of the Government and kev monuments in Delhi,
' o Ra ;:"",'“"-‘- 135 . W— -"f", _— = . - g . P

[ includin rapathi Bhavan, Parliament House have been illuminated in Red colour. This

15 @ part of awareness campaign of the following.

(.I ) arcinoma (2)  ActdDyslexia

(3) High Blood pressure (4) Diabetes

& \hod Rotwdd O Bhd: 6, e3rds r:':ll;{r.':buu"‘ erfom 27 w.ﬁ"mb’ 2024 o

ﬂitfi-c;‘.‘; CrE RO6E00, fleled O3 c-;ci:;:i-:‘i n‘c‘Euoirm S00asn do¥ ELhorod

V -~ - w

D

"\ ol d o -4 [ — ot 1 -
aJiJ.Jl\-‘: Solfeud Lo Fi0w widid

(1) !:‘LT_.:.'.'.L.‘ (2) _ tsE'-lg"FgﬂJcﬂ:.
(3) ebd sgbdse (4) S0

164, In November 2024 South Asia’s largest maritime thought leadership forum was conducted
in Delhi. The title of the forum is

(1)  Sagarvojana (2) Samudrumanthan (3)  Sagarmanthan  (4)  Sagarmela
SSons, 2024 Cfm ubolr o), 880G I008% gl HAGAS HdS Jb*
- . e

Agurodndcd. o Ll
(1) >abQras  (2) S5o@Hess (3) 662085 M) >h6he
ih_S, Expand GRAI - 2023 launched on 18" November 2024 by the Minister of Personnel,
Public Grievances and Pensions.
(1) Green Regional Assessment Index - 2023
(2) Grievance Redressal _—\sscssment_and Index - 2023
(3) Generative Re-applicable Antificial Intelligence - 2023
(4) Grievance Reporting and Action Implementation - 2023
SSow8 18, 2024 3 3635, 39§ (38 So0ckn WES) Soo@dgTp ©IN0003
GRALI - 2023 & d30oPod.
(1) S 6238 8ot 203§ - 2023
(2) B3R BIERS /oS eob =oa§) - 2023
(3) =5083 deasw &9__2:21053(5 20L93x) - 2023
(Y h35) 0ol ol oSrgS moRooBAS - 2023

VO RARE R 378
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166. On 4t September 2024, to end the 35 year long conflict in the State of Tripura, A
Memorandum of Settlement was signed between the Government of India, Government of
Tripura and the following organisations.
2006 4, 2024 8 89S oSt 35 DY TS SodogrEs SN0 SeoSEr
- o B0 B0 BebEo, BHS Hebdgo Sbakn & Bod dogew HodsTeo DTow.
(1) NLFT&ATTF (2) PLA &NDFB
(3) GNLF & UNLF (4) KCP &JKLF

167. Choose the incorrect sentence regarding the Republic Day celebrations 2025.
(1) Ministry of Tribal Welfare wins best Tableaux award.
(2) AndhraPradesh Tableaux was Etikoppaka Bommalu : Eco-Friendly Wooden Toys.
I (3) Thethemeis ‘Vikasit Bharat ki Ore Sadaiv Agrasar’.
,) (4) The Chief Guest was the President of Indonasia.
0585 d 2025 ¢&T o donodod SOSM TEgS0 JobE BaDod.
hozd So@diTy Lo &gl bo vy NeoHod.
(2) - ©o@DBE Lo @ IBEIE FTHen @ JorgSdetrd B, FSoe0.
(3) =38BFo ‘DELS 2r6E & L5 DTS WIS
(4) Sopg ©88 KOG Fackr vGgsd.

168. In connection with 97 Academy Award winners, match the following. |

; a)  BestActorin leading role ' i)  Secan Baker

{:8 b) Best Actor in supporting role ii)  AdrienBrody
c) Best Actress in leading role ii1) Mikey Madison
d) Best Director iv)  Kieran Culkin
97 5 5D oo PSS H0w0sD §0d TE BEBGSo,

i- e - | =D -1

| a) P IES GES St | i) RoHS s
b) &85 JITH St ) ods = :
C) DTS FES S5 3¢ iii) 08 ass Q
d) &g G iv) &o%sS £ 8 -

The correct answer is :
HOGS HIPGTHE0 -
) a-ii, b-iv, c-iii, d-i (2) a-ii, b-iii, c-iv, d-i
(7"\) a-iv, b-ii, c-i, d-iii ) a-iii_, b-iv, c-i, d-ii

U 8.8

-
T ———
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169. Match the following appointments with the persons as on March 2025.

=
(=]

iy

List -1 List-I1

a)  Defence Secretary of India i) K. Sanjay Murthy
b) Comptroller and Auditor General of India  ii)  Arvinder Singh Sahney
¢) Indian Oil Corporation Chairman iii) Harsha Vardhan Agarwal
d)  FICCI President iv) Rajesh Kumar Singh
2025 S8y 57838 & (§ob DSrHsel wolr Sg8od 2EdEEod.

e - | | e - 11
a) rdd dgea-?’:p 55550y i) 8.doz0%n Sord
b) wrdd So@ob wok wddd 2385 ii) 85086 vof ST
c) woBoHN WonS STNOAS BEN iii) ¢ 3¢S wiivgd
d) FICClwggsadh iv) o@Q 5576 doh

The correct answer is :
; BBGE DIrEHB0 ¢

) a-ii, b-iii, c-iv, d-i a-iii, b-ii, c-i, d-iv
' 3 adv, be, ci, d-iii @ a-iv, b, ciii, dii

170. Who among the following was not a member of Space X Crew-9 mission, that returned
from International Space Station to earth on 19th March 2025.

(1) Butch Wilmore (2) Nick Hague

(3) Suni Williams (4) JohnGlenn _

wodTEoH woddE oo ool s 19 S8y 2025 & 80n IS 2R I§) §--9
AR éeﬁ)sﬁ‘wf‘ée;bgcéo 5° T80

(1) o8 a&3r6 (2) 95 A
L3500 200 4) =S50S

171. The first Indian astronaut selected to go to International Space Station is
(1) KalpanaChawla (2) Rakesh Sharma
(3) Shubhanshu Shukla (4) Suni Williams
wodTdakH woddE Bo o8 36@5"&)& Da\léowé 0053 erdes &9@1‘0‘6&5
(1) Soyw o (2) o8 6y

B Burob bF (4) Hob DODSY

T 308
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172. In QS World University Rankings: Asia (2025) the following Institutions of India placed
within the top 50 ranks.

(1) 1IT Madras & IIT Kharagpur

(2) 1IT Delhi & IIT Bombay

(3) The University of Petroleum and Energy Studies & I1Sc.
(4) 1IT Roorkee & IIT Kanpur

QS S6¢ 0558 Trgoofy 1 eRST (2025) &° rESBTRE BodS (50d BoPen
068 50 Trgodoedt damox.

,m/IIT Lo &IT pdhys
(2) NT&S &IIT &3
(3) & chrasoyl e E*dcho wob G §8S & IISc
4) 1T &»8), &IIT s°&mE

L

173. Match the following indexes with the respective ranks of India.

9 List-1 List-11
" a) Global Hunger Index 2024 iy 118
b) Global Innovation Index 2024 i) 159
c¢) World Press Freedom Index 2024 iii) 105
d)  World Happiness Report 2025 iv) 39
8o Jrdo T8 883 F0 FodI U‘so’éqpé‘.;;ééﬁdo&.

e -1 e -1l
a) R ok =oaf), 2024 i) 118
b) fad asHIAS =oa§), 2024 ii) 159
) 6§ BB LES> 2038, 2024 jii) 105
d) 55§ HgHRS 0E, 2025 v) 39
The correct z;nswcr is: '

HOGS HEFEEBN : |
W) a-iv, bHii, o, d-ii (2) a-ii, b-iii, c-iv, d-i

a"iii, b'iV, c'is d-ii a_lii: b-i\’, C'ii, d-i

AR 08
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174. Which of the following was not among the four engines of development proposed in Union
Budget 2025-26?

(1) Agriculture (2) MSMEs
(3) Exports (4) Imports

§od Te* 2025-26 S0 a:aéSeS“ REFBoDS Trenid ai);éaa ﬁ‘cﬁé -a’éoe.:eS‘ 8&)& 059
| M;’:géﬁ‘oﬁao .~ _A7) MSMEs
(3) doSorehen ,L@/am:néam
175.

Identify the incorrect sentence regarding the armounccmcnt of Ramsar sites by the Central
Government in February, 2025.

(1) Announced four new Ramsar sites.

(2) The total number of Ramsar sites increased to 89.

(3) Assam and Bihar secured their first ever Ramsar sites.

(4) Thenewly designated sites include two from Tamil Nadu.

D@58 2025 & o6 BT K80 So|f HaE] BELIK Sowohod BB TEgsw
JoE Bohod, '

(1) senid 58 015355 P3ToH ©HEBoD0d.

(2) Jogo o506 BdzTo Sopg 89 & HoARCE.

Qf)/ﬁ;no 308080 HIEen m&mdﬁ&ﬁ o086 @E:'Sra‘e:é: doorom.
(4) s Fo Fobs @Broej‘ SDFEE BoBID Body HBT .

176. Which of the following village from India was sclected by UNWTO as the best tourism
village under upgrading program for 20247
(1) Dhudmaras (2) Chitrakote
(3) Dhordo ~ (4) Pochampally

-

——

1 050.05.6205.83.8° 08 erssBdo Sood 2024 H058\0°R8MS> WHAE @i §od
£ ,330155‘23&‘526 g Dorglof (rdoo?

A (1) SrE8500°S (2) 2SS

i 3) &¢ ) DB

t 177. First Asian Buddhist Summit was held at :

¢ (1) Khatmandu (2) Gangtak

: (3) New Delhi (4) Thimpu

E DG SHOHS QY DA afd 20000

B (1) arépod (2) roftl

SrgB ' ) BoR

T a1
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178. Confederation of Parties - 29 conference held

(1) Baku, Azerbaijan 11-22 Nov. 2024

(2) Baku, Azerbaijan 11-22 Oct. 2024

(3) Paris, France 11-22 Nov. 2024

(4) Kyoto, Japan 11-22 Oct. 2024

S*N'Ddfa S e TS - 29 ;od:i.:“j BASH

(1) 11-22

,_pa"l/zz g; 26 2024, ea 53 rSS' o

(3) 11-22 26 2024, 3 5;,0“&) 08
(4) 11-22 sE'b 2024, 2255 §'ges*

@ Scanned with OKEN Scanne

L=

179. Choose the incorrect pair regarding Maha Kumbh, 2025.
(1) Green Maha Kumbh : A National Level Environmental Discussion.
(2) Netra Kumbh : A massive ey care initiative to combat vision impairment.
(3) Bhashini : Akashvani’s initiative to broadcast news bulletins.
(4) Kumbh Sah *Al’ yak : Al powered multilingual and voice enabled chatbot.
Sargsod 2025 5 domofod ROSTA 2d .DF&JJG‘O&.
(1) %08 foogie  arboh Jond' Horgddm Bowod Soy) s EgESo0.
(2) 3G sood : &) S'ToD $S500Bodt DY RS BHYS s*EgEso.
(3) o @ ss¥Td @nE), ToPTE SEgES0.
}-j) Kumbh Sah ‘Al yak : Jo 66708 2dverdr $H0050 T7o0d I3e0qG TS,

180. Choose the incorrect pair regarding 70" National Film Awards.
(1) Best Non-feature Film - AYENA
(2) Best Debut Film ofa Director - MADHYANTARA
(3) BestDocumentary - RANGAVAIBHOGA
(4) BestAnimationFilm-A COCONUTTREE
70 $ 8chH Sod I vIrRu Vopodod VOSA BEH Jo1E Foos.
(1) 3] o6 96 - wonT
(2) Q‘c’;é&' R, BY SO DASe - Hoggods —
(3) 3 c§‘§osz'boéat3 - Soi§ 3P
(4) B SrADAS B - I FEIE B

I 2
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181. Match the following Padma Vibhushan awardees 2025 with their related ficlds.
a) M.T. Vasudevan Nair i) A
b) D.Nageshwar Reddy ii) Medicine
¢) Sharada Sinha iii) Public affairs
d) Jagadish Singh Khehar iv) Literature and Education
& (Bod 2025 LE)DTrA irdod o8 o0 dorod' adddsod.
ado -1 e -1l
a) M.T. o858 soid 1)  Sdw
) | b) D.a04c634 ii) Ddgo
¢) TEE DI i) PWardouoFw
d) 26b5 Sofi 356 iv) atrdgo S00cko dAg

The correct answer is :
HOSS HITGHB :
(1) a-iv, b-ii, c-iii, d-i (2) a-iv, b-ii, c-i, d-iii

(3) a-i, b-ii, c-iv, d-iii (4) a-i, b-iii, c-ii, d-iv

182. Who among the following wasnota winner of Sveriges Riksbank Prize 2024 in Economic

Sciences?
(1) DaronAcemoglu (2) Simon Johnson
(3) JamesA. Robinson (4) Victor Ambrose

B ' & BoB Tos* ©BE TFoS' WEOED BEjerof wdvSd 2024 & FolITEH
(2) DHS HS

(1) @3S /30
(3) I A.TDIHNS (4) DE6 wo'®

183. The World Boxing Federation’s Super Feather weight World title held on 5th Nov. 2024.

The Winner is
(1) Mandeep Jangra
(3) Roy Jones

(2) Conor Mcintosh
(4)  Vijendra Singh:

$306 5, 2024 & 2003 @0 er8yof 2EBRS drds w86 FondS Pdos BES REE]

(1) 865 =roy 2) S5 280D

(3) o©o® Q) .(A’)’fﬁo@ %ol
i
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184. Match the following countries with the total number of medals they got in Paris Olympics
2024.

List-1 List- 11
a) Japan 1) 33
b) - China ii) 126
c) USA iii) 91
d) Australia iv) 45

Bob Brod TS 200dE) 2024 &' ©d 085 Ingo ISsTL Jopgs’ 2858504,

de - | e - 11
a) 2JrQ i) 53
b) d& i) 126
c) USA iii) 91
Q0 d) oo iv) 45

The correct answer is :

E:)D@JFG D3R8

(1) a-iii, b-iv, c-i, d-ii (2) a-ii, b-iii, c-iv, d-i

(3) a-iv, beiii, c-ii, d-i A a-iv, bei, cii, deiii
185. Which of the following planet doesn’t have satellite?

(1) Mercury (2) Saturn (3) Jupiter (4) Earth

Bod TSt ediTro B s 82

20080 (2) (3) s (4)

186. The outer most range of Himalayas are known as

(1) Pir Panjal (2) Shiwaliks

(3) The greater Himalayas (4) Purvanchal

rErocSrd’ wdgod iy @8 J800rdd?

(1) 26 dowS 308en

(3) ©{HS TSrocired (4) FogossS

187. Which of the following States has the largest wind farm cluster?
(1) Punjab (2) TamilNadu
(3) Haryana (4) Odisha
80B TRS* w8 DG D08 FERES £INS ogo 287
(1) Hoxrd ' ERSEAS

3) Hoge (4) ada
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188. Match the following.
List-1
a)  TheNarmadariver
b) The Mahanadiriver
c) TheGodavaririver
d) TheKaveririver
8ol T8 2EDGBw.

=DE - |

a) o -é&%) oodob argo

b) S50 6 — i) HBrE DBrow $O
c) Aosd :sis/\/,/\iii) A0 Soden

d) 36 %0 I ) B

The correct answer is :
P0G Jrerdsn ¢
(1) a-ii,_b-iii, c-iv, d-i
(3)—a=i, b-i, c-iv, d-iii

Booklet Code B

List-1I
i)  Hirakud Dam
ii)  West flowing river
iii) Brahmagiri Hills
iv) Nasik

e - ]

P adii, b-iv, c-ii, d-i
WP a-i, beid, c-iv, dii

189. Which ofthe following river flows through arift valley?
(2) Mahanadi

Bobd FBe* Hrven S'ol thodr HSLroB 0 JA?
(1) &3 (2) SoH*38

(1) Kirishna

(3) Tungabhadra  (4) Tapi (Tapati)

AT (658)

(3) SonES

190. Which of the following port is also called as Deendayal port?

(1) Kandlaport
(3) Chennai port

Bod LGB HoS 3 BISHSrE L.E0H O roe 2e0]6?

5o 5,60
(3) BY) LAV

(2) Mumbai port
(4) Kolkata port

(2) Snowron LE0N)
(4) S L.40Y

191. From the following, choose the o

(1) YaradaHills
(2) NallamalaHills

(3) Mogalrajapuram Hills

(4) FErramalaHills

Bod FS* IS 2850 Kook,

}4’) osrores Fode
) sgio Sobes

Z3)y—DKS ormddo Eoden —

(4) dESoe Fodwd

rrect pair.

YSR Kadapa District
Srikakulam District
NTR District

East Godavari District

YSR 865 2e
3esodo 2
NTR 2er

S0y H'aS0 2eT;

e ——

A
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192. The difference between the birth rate and death rate of a country is called

(1) Arificial growthrate (2) Natural growth ratc

(3) Negative growth rate (4) Scasonal growth rate

o€ Bfo @ng) uds, Sodn o Sdy Ko 55675 D50 Hedd?
—— —— 2 S b -

(1) 8y8d> 5B Bt ’@ vl ;S')% B

@ Basro 5B dn (-4}) sordon 38 o

193. Identify the pair which is not correctly matched.
(1) Flora - Plants of a particular region
(2) Soil Erosion - Gradual Removal of top layers of the carth
(3) Coniferous trees - Shrubs having needle shaped Icaves
(4) Urbanization - Population shift from Urban to rural arcas
Bod TS HOM 2EB6SN T KHBoSod.
(1) Syfroo - uE @dgE (Fodos' BN JngHwd
(2) Bo EHgcho - Frd Bng), TG Edom Solodnddo
(3) ‘é'ao'n‘s"d':g) %3!.13 - 400 560 s fo S0
é(ﬁj,._é%tﬁggm - Boy Qo ©ob rirok Sod gHdo

194. Which layer of the Atmosphere is ideal for flying acroplanes?

(1) Troposphere (2) Stratosphere

(3) Mesosphere (4) Exosphere
TES6ING'D O 836050 ISTTL PASrBoSEAE VwISE?
(1) &' 5600 A @t w0

(3) hoa* 560 AR5y wi6m0

195. The Right to Property is now found in this Article of Indian Constitution.

(1) Article 19 (2) Article 31
(3) Article 243 (4) Article 300(A)
> ple orargofiod® B&o ey T8, & ©dE8mosS* v,
(1) 195 wbssmo (2) 313 ep&6m0
(3) 243 5 whESwmo A 3BOHA)S wpE6mo
196. The following fundamental right is granted to Indian citizens alone.
(1) Rightto Public Employment (2) Rightto Equality Before Law
(3) Rightto Protection of Life (4) Rightto Freedom of Religion
& 80D (@rEE gy, W8 08 S 583908, '
g j»:)(@eﬁiés a&'gmed 358 T8y, B SErIEgH Ty,
(3) o S8 TBY (4) 508 Hogw) S8y,
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197. Who is the successor of G.V. Mavalankar as speaker during first Lok Sabha?
(1) GS. Dhillon (2) M.A.Ayyanger
(3) S.H.Singh (4) RabiRay
S0EE SEIY 500" 8.2, ForokE S bygom 5 Do T

(1) =008, S /&)’553:3. wabgomrs
(3) oBR.3S. DoA " (4) 6HDB

& 198. Thc Distric(t:l of Rajasthan where Panchayat Raj System was introduced for the first time in
India on 2" October, 1959.

(1) Bharatpur

. (2) Banswara

(3) Nagaur (4) Hanumangarh

u§ab 23 88, 19593 0‘3523‘555‘3 \80d zere* rESBT0eS* INEBFOm JoTrchs TE
3553 @ITLwdod.

(1) $585°6 C2) of)T8
Y S8 | L (4) SHErS06

N The number of seats reserved for Scheduled Tribes in Lok Sabha is
§ = S'EXFS* wdrgS 8ife 708 $eronotndd FIe Dopg
(1) 47 ' 2y 43
(3) 49 4) 41

200. Which article of the Indian Constitution promotes the establishment of cottage industries
in rural areas?

S T
ot P T
b AL '
w

3 (1) Article - 40 (2) Article-46

E (3) Article - 48 (4) Atticle - 43

f 68 orargoliod” 2 @ECe0 o | Fogros’ Hot38 HBFHe FISK @ r0d?
(1) 405 HE60 (2) 465 BES=0
(3) 48% HESmO 4T A3S (BESe0

ooooa

(T a8
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